19. Component ABCD supports two independent loads W;~ N(150, 59 Ib and W, ~ N(550, 7.5?) Ib.
Determine the distributions of x and y components of the force acting on pin A.
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Z M, =0; F;cos45 (1.5)+ F;sin45°(1.2) -W,(5) -W,(11.5)=0
Therefore, we can obtain:

4 (5) + 4, (115)

U = - s =3705.81b
® c0s45'(1.5) +sin457(1.2)

\/0'\,2\,1 (5°)+0” (115")
O, = =
o c0s45°(1.5) +sin45°(1.2)




Also, we have:
ZFX =0; —A +F;c0s45 =0
And,
>'F, =0, —A +F,sin45 -W, -W, =0

Thus, we can obtain;

Hy, = iy, COS45" =2620.41b

O

A =Op, €045 =33.23

Hn = Mg, SINAS" — 1y, — 14, =1920.41b

O, =\/Gvi +c7vi2 + (o, sin 45°)? =34.43

Finally, we have A, ~ N(2620.4, 33.23% Ib and A, ~ N(1920.4, 34.43%) Ib. Ans.



